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1. (10%) fin, ]

z—1

2. (10%) Consider the function
o= ote 51
Find the constant a = such that f is continuéus on the entire real line
3. (10%) F01 Lhe function f(z) = 3z+/3 —z on thé interval [1 3], the abéoluté minimum
value is .
4. (10%) For the function f(z,y) = a:zy_-—ln( +9), fay(1,1)

(10%) For the equation y* — ye® — zlny = 12, the slope of the tangent line at the

5.
point (1,1) =

1
T—dz =

6. (10%) /m(lm) -

e

| o,

7. (10%) / e tidx =
0 ,

8. (10%) A rectangular solid is measured to have length «, width y, and height z, but

each measurement may be in error by 1%. The estimated percentage error in calculating

the volume is
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9. (10%) A closed rectangular box whose volume is 128 cubic inches is to be made
with a square base. If the material for the top and bottom costs twice as much per square
inch as the material for the sides, use Lagrange Multipliers to find the dimensions of the

box that minimize the cost of material
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10. (10%) Evaluate - / / ) eV dydz
0 Jz/2
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